NO XY ETAL ot =P =g s3I

1 |Le KGO gdads =AU EHIZAH 20,000 18,000] 1 18,000
2 |0ttt 2% s =2 2 A A 28,000 25,200f 1 25,200
3 A0l 018 E0121 25 22,000 19,800] 1 19,800
4 [HIAZXE OloHE = U= Al XIA(ZHGPT = BHL 19,800 17,820 1 17,820
5 |BetE Hif=s 3 Al StHI X 22,000 19,800] 1 19,800
6 [RHXE 20 M5 doolst 13,000 11,700] 1 11,700
7 |15== &R0 SoteA 23,000 20,7001 1 20,700
8 [s2=2 0ZI LIE SA0/=0t HIaA=A 22,000 19,800f 1 19,800
9 K= =2ttst witA OOl =B (=E T 18,000 16,200] 1 16,200
10 [S=3 228 NF22HH 80l ZMCEH st=8 13,000 11,700] 1 11,700
HPOHRE sd 1 Chat=2 9] A (DASA 16,800 15,120 1 15,120
2 |4e 2= dA SEgst A 12,000 10,800] 1 10,800
13 [10E =2 B350 226 394 & A2 HIEUASA 16,800 15,120] 1 15,120
14 |10/ S HiP=E dus = OICtASA 15,000 13,500] 1 13,500
15 |1I0LHE <st Sdotb= T2 OlcH A OOl MI S 13,000 11,700 1 11,700
16 |10HE <lst 28 B 3X = LA EM 17,000 15,300] 1 15,300
17 ]10LHE 28t S =2 A E M 16,000 14,400] 1 14,400
18 |6uAl O1d A A2 EA 15,800 14,220 1 14,220
19 [KEE2 HEN fetdl=. 1 S&F=LI0 13,000 11,700 1 11,700
20 [KEFES A=A [Hetll=. 2 SA=FLIO 13,000 11,700] 1 11,700
21 [KEEol HEN etdl= 3 S&F=LI0 13,000 11,700 1 11,700
22 [KEE2 A=A [fetll= 4 SA=FLIO 13,000 11,700] 1 11,700
23 [KEEo HEA ietdl= 5 S&FLI0 13,000 11,700 1 11,700
24 [KEE2 HEX [Hetll= 6 SA=FLIO 13,000 11,700 1 11,700
25 |28 S= P ZEotRA 14,800 13,320] 1 13,320
26 |28 HE5S AIASLICH & Hl 13,000 11,700 1 11,700
27 |BH=st, 212 Eo¥E Aeid! A2rstn 15,000 13,500] 1 13,500
28 |00l Alg, FAS RelsLICH BIH Ol Xl 14,000 12,600f 1 12,600
29 |020| Alg, =SS RelSLIT BIH Ol X 14,000 12,600] 1 12,600
30 |18t A =S sUl 12,500 11,250 1 11,250
31| 0s Ao WAH L 1M1= A 18,800 16,920] 1 16,920
32 |20t 480 &= =2t LYAESA 18,800 16,920 1 16,920
33 |20 XN stdsSS e &l = SREA 18,000 16,200] 1 16,200
34 |=0{ &ol= Ot0IJt Ol LIC 2 A 17,500 15,750] 1 15,750
B |AHMSS & AHNY SIS At 18,000 16,200] 1 16,200
36 P1E2€2 2 0r=0l3 13,000 11,700 1 11,700
37 [PI==101212t 20l 0l XI 2.2l Ot 19,500 17,550 1 17,550
3B |U= HEZ=CIE D=2 ZHRLYLICH SAXAGHRA 17,500 15,750] 1 15,750
39 |U= S0 HF2 ESHYLIT Gl HI Ol X 17,800 16,020 1 16,020
40 |Ut= dis8t ZEHte 22X LI Al Z At 18,000 16,200 1 16,200
41 |LOH 2 2= ALOIOI SA=FLA 10,000 9,000] 1 9,000
42 (Ul AEIAH EsrsUl 12,500 11,250f 1 11,250
3 |== =/UE =15 15,500 13,950 1 13,950
44 1522 HIZ S eI 16,000 14,400] 1 14,400
45 |SEIUR =S = HiH 14,000 12,600f 1 12,600
6 I==S%2 B5E HazA 18,800 16,920 1 16,920
47 |<0Fe =58 2= AHAI E 11,000 9,900] 1 9,900
48 =< cHel= 15,000 13,500] 1 13,500
49 2125 OrGCHElOtAE ) ZHH| 15,000 13,500 1 13,500
50 |2l 22 oK 28Ul 11,500 10,350] 1 10,350
51|02 Z Al CH 2 M OHOI 13,000 11,700 1 11,700
52 |OHXI9} OtS0l Scl=s E5dE 2d0lotA 17,800 16,020] 1 16,020
53 |8tel BtE= © Z 3] 26,000 23,400f 1 23,400
54 |2elel g5 el & QIE=0E 18,800 16,920] 1 16,920
55 |&AHE Al Ctatziet 13,000 11,700 1 11,700
56 |HIcl=E OIS At&I 2 Sz aA 17,000 15,300] 1 15,300
57 |2AH X2 E AHAIL E 12,000 10,800 1 10,800
58 20D Bl SA Ret B34 44 M2 H ot 18,000 16,200] 1 16,200




50 |01t Mol &3 ol= 14,000 12,600f 1 12,600
60 |21 LSl sHE 0108 HESH=HM 15,000 13,500] 1 13,500
61 |BtEZ= GIOIEl ZOHA fclstu 14,000 12,600f 1 12,600
62 |HE E0IXEH Ot A& AN IE2] 18,000 16,200] 1 16,200
63 |=& =0 SotsLICH | XgA 16,000 14,400] 1 14,400
64 |E 40 2HO HHA 2001 X1 2 2l OF 19,800 17,820] 1 17,820
65 |2 A0S A A0l 2001 XI 2 2l Ot 19,800 17,820 1 17,820
66 [E0I3 Zel s 18,800 16,920] 1 16,920
67 |&ot = Ctatzhet 13,500 12,150 1 12,150
68 A2 HHEH M2A3HD IR JIHst=I EU0lS 17,000 15,300] 1 15,300
69 [AtOI A 2024 HIEA 27,000 24,300f 1 24,300
70 [olkte S ASUAIS 13,800 12,420] 1 12,420
71 |AoITe AEE 2 ASUIS 14,800 13,320f 1 13,320
72 |&H AL 1 A2 ASUIS 17,000 15,300] 1 15,300
73|EH. 2 259 = ASUIS 25,000 22,500f 1 22,500
74 &AL 31 ALMIS S ASUAIS 25,000 22,5001 1 22,500
75 |E , 2822 S0t =Sl 16,800 15,120f 1 15,120
76 tOI = HilH 14,000 12,600] 1 12,600
77 Ao A ot OIFEE ME(®3H) ZHH| 30,000 27,000f 1 27,000
80 |~S=0IX= AHEJIS & CtS 14,000 12,600] 1 12,600
81 |=&et SStMsSo st Al HESHS 12,000 10,800] 1 10,800
82 |4ttt 3o I A EJ(TXTY) 16,800 15,120 1 15,120
83 |=AICH HIE CHNA oiZ2H= =S dolet=HMAZ 18,500 16,650] 1 16,650
84 [NEAZ UIOIEIE 5&2 H0ial&t ANAASTHA 13,500 12,150] 1 12,150
85 |al it ZElMsS 14,800 13,320 1 13,320
86 |0t0I= 2322 At LYAESA 17,500 15,750] 1 15,750
87 [OHLIZH S= 12,000 10,800] 1 10,800
88 |Z =0 28 otolz I[Act SoteA 17,500 15,750] 1 15,750
89 |2 &lcl HEA =ot==0ICIN 7,500 6,750 1 6,750
90 |2 0] AtH! cetard 14,000 12,600] 1 12,600
91|25 &, AR MAHUNAM L= = 8l /B2 15,000 13,500] 1 13,500
R |22t P ZEotA 13,000 11,700 1 11,700
93 | =M WA AMAHA 1 ASIEE 16,000 14,400] 1 14,400
9 | S WA MIAH A A2 EE 16,000 14,400] 1 14,400
05 |SHMOl AIBHA St=A 10 Rl AL JAMSEE 16,500 14,850] 1 14,850
96 | EH MO AIZHA St AL 20 Al Licht JZAelEE 16,500 14,850] 1 14,850
97 | S Mo ABHA S AL 3: SEU 2o, AISIEE 16,500 14,850] 1 14,850
08 |BHMO AIBHA Bt=A 41 DS JIESMIEE 16,500 14,850 1 14,850
9 |BSHMO AIZBHAE St A 5 D, RAJ| SASEE 16,500 14,850] 1 14,850
100|SHMO] AISHA St=AH 60 M Uet ZECASIEE 17,500 15,750 1 15,750
101|SHMUO] AISHA St=Ab 70 ANHEt) HAMSEE 17,500 15,750] 1 15,750
102|SHMO| AISHA St A 81 2USE S6HASIEE 17,500 15,750 1 15,750
103|SHMO AISHA St=A 90 222 XIHHOAtSIEE 17,500 15,750] 1 15,750
104|SHA40 AIEHAH st A 100 22t Al=, AISIEE 17,500 15,750 1 15,750
105[cl & A0 Al2tHOR! Sclstu 14,500 13,050] 1 13,050
106|<cli= OOl A 20t ALAHE 12,000 10,800 1 10,800
107 A S EHAL 15,000 13,500] 1 13,500
108|2F S0 BUZE =2 108 £ SO Jle 200l XI2elot 19,800 17,820 1 17,820
109| S M0l MHZ & 24 17,500 15,750] 1 15,750
1103 A S FELIO 16,000 14,400f 1 14,400
111 20| & =01 A0 2 18,500 16,650] 1 16,650
112 20| & =02 A2H O 2 18,500 16,650 1 16,650
113 20| & ;=0 3 A0 2 18,500 16,650] 1 16,650
114 20| & =04 A2H O 2 18,500 16,650 1 16,650
115 20| & ;=0 5 A0 2 18,500 16,650] 1 16,650
116 = =5LICH 1 == 18,000 16,200 1 16,200
117 = =5LUICH?2 =222 18,000 16,200] 1 16,200
118 = =gLICH3 == 18,000 16,200 1 16,200
119 = =5LICH4 =222 18,000 16,200] 1 16,200




120|0IKl = =&LICHS =225 18,000 16,200f 1 16,200
12101 &2 =&LICH6 e 18,000 16,200] 1 16,200
122|0I M & AtASH HS Ctatzhet 13,800 12,420 1 12,420
123[01E8 X512 Zlitst CAAE 16,000 14,400] 1 14,400
124|218 8ol CHol Y Clat=S A 13,500 12,150 1 12,150
125[401= A2 OFLIOH! AI2H0f & 15,000 13,500] 1 13,500
126]1&= U 2001 XI 2 2l Ot 17,500 15,750] 1 15,750
127|Z0HQI0I O 2 MatoletdH LRISETA 15,000 13,500] 1 13,500
128|M 22 25 FAsS 2o b AL s 15,200 13,680 1 13,680
129|Msl= 0 idsS MELId HEA 15,000 13,500] 1 13,500
130|KIAtS S Erolf =Sl 10,000 9,000 1 9,000
131|=01 < bt StAI S AL 15,000 13,500] 1 13,500
132|040l B 40/0F & st 08AH 45 cltil s 22,000 19,800] 1 19,800
133|S0401 3 20{0F & S3CHEAMT5(4) 2tz 22,000 19,800] 1 19,800
134|040 B 210{0F & SHACHEHAMTY5(GH 22 22,000 19,800] 1 19,800
1B B2 vs. IR B8 Ot = AMindse 17,800 16,020] 1 16,020
136 H= NS 1 2= 17,800 16,020 1 16,020
137 H=E NS 2 2= 17,800 16,020] 1 16,020
138|XMS AlXols X S8 == 19,000 17,100 1 17,100
139OIt AL Al2I= StA ME(RTH) siEst 117,600 105,840] 1 105,840
140|891 3o =39 =SAMAM(2E) S OtS A 13,000 11,700] 1 11,700
MHSY HFE StAI S AL 13,000 11,700 1 11,700
42|58 448, Aol ENR? soieldr g 13,000 11,700] 1 11,700
143|289 82 4 LYAESA 16,800 15,120 1 15,120
144|=+S ofH M8t XS SdeAEN 18,000 16,200 1 16,200
1458 S0l = A& 0108 HESH=HM 15,000 13,500] 1 13,500
146|=2 =32 JHE = UL M2 = ch 15,500 13,950] 1 13,950
4712 MLt A A A SASA 17,000 15,300] 1 15,300
148|=st2 Xiel ASAE 14,000 12,600f 1 12,600
149|3t &t & 5 U= 16,000 14,400] 1 14,400
150|Z2E H3= A 1 SHAFZ StAL 4,500 4,050 1 4,050
151|ZES A=A 2 SHAFE 3 A 4,500 4,050 1 4,050
152|ZE A3 =AH. 8 SHALZ StAL 4,500 4,050 1 4,050
153|ZE2 A==A. 4 SHAFE 3 A 4,500 4,050 1 4,050
154|ZE HAS=AM. 5 SHAFZ StAL 4,500 4,050 1 4,050
155|ZE HA==A. 6 SHAFE 3 A 4,500 4,050 1 4,050
156|2E HS=AM. 7 SHAFZ StAL 4,500 4,050 1 4,050
157|ZES HA==At. 8 SHAFZ S A 4,500 4,050] 1 4,050
158 |2E HS=A. 9 SHALZ StAL 4,500 4,050 1 4,050
159|ZES A==AH. 10 SHAFEZ 3} A 4,500 4,050] 1 4,050
1602 & H3= A 11 SHAFZ StAL 4,500 4,050 1 4,050
161|ZES A==AH 12 SHAFEZ S A 4,500 4,050] 1 4,050
162|ZE HAS=AH. 13 SHAFZ StAL 4,500 4,050 1 4,050
163|ZES HA==At. 14 SHAFZ S A 4,500 4,050 1 4,050
164|Z2 &2 HAS=AH. 15 SHAFZ StAL 4,500 4,050 1 4,050
165|Z &S A==At. 16 SHAHZ SEAL 4,500 4,050] 1 4,050
166 |2 & HAS= A 17 SHAFZ StAL 4,500 4,050 1 4,050
167|Z & A==At. 18 SHAFZ S A 4,500 4,050] 1 4,050
168 |2 &2 HAS=AH. 19 SHAFZ StAL 4,500 4,050 1 4,050
169|ZE HASE=AH. 20 SHAFZ AL 4,500 4,050] 1 4,050
170|2E 2 HS= A 21 SHAFESHA 4,500 4,050 1 4,050
71| ZES ASE A 22 SHAFZ AL 4,500 4,050] 1 4,050
172|Z &2 HAS=AH. 23 SHAFESHA 4,500 4,050 1 4,050
73| 2 & ASEAH 24 SHAFZ AL 4,500 4,050] 1 4,050
74| 2 &2 HAS=AH. 25 SHAFESHA 4,500 4,050 1 4,050
75| ZE ASEA. 26 SHAFZ AL 4,500 4,050] 1 4,050
76| 2 &2 HAS=AH. 27 SHAFESHA 4,500 4,050 1 4,050
1771018 == 1 SHAFZ AL 9,000 8,100 1 8,100
17801+ OHEE 2 SHAFESHA 9,000 8,100 1 8,100




179]D18 > W& B 3 S 2 BHAL 9,000 8.100] 1 8100
180012 %= 4 S 2 B AL 9,000 8.100[ 1 8,100
181]o18%. 5 S 2 BHAL 9,000 8,100 1 8100
182[01 %% OHEE 6 S 2 B AL 9,000 8,100 1 8,100
183[D1 s+ HEE 7 S 2 BHAL 9,000 8,100 1 8100
184]01 %% 8 S 2 B AL 9,000 8,100 1 8,100
15[ A2 2 | YNKOI CI Of 6,000 5,400 1 5,400
186[A2i0 21 2 YNKOI CI Of 6,000 5,400 1 5,400
87|20 21 3 YNKOI CI Of 6,000 5,400 1 5,400
88|22 2 4 YNKOI CI Of 6,000 5,400 1 5,400
189] A2 D 21 5 YNKOI CI Of 6,000 5,400 1 5,400
190[A2 0 21 6 YNKOI CI Of 6,000 5,400 1 5,400
191|220 20 7 YNKOI CI Of 6,000 5,400 1 5,400
192[A2i0 21 8 YNKOI CI Of 6,000 5,400 1 5,400
193[499HX1 Al MO a4t EAIDF HEESTA 19,000 17.100] 1 17,100
194]3652 815} = EEERS 25.000]  22,500] 1 22,500
g & 200 | 2,527,020
50122 ANPHASLE 152 AU
78 |28 & orgiOFENA B84 | I 1
79 |48 X O OREANA: =SALI | | 1
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